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1 

2.. 

2. 

A 

Consider the following statements: 
DNA Barcoding can be a tool to : 
1. assess the age ofa plant or animal. 

Distinguish among species that look 
alike. 

2. 

3. Identify undesirable animal or plant 
materials in processed foods 

Which of the statements given above 
is/are correct ? 

(a) 1 only 
(c) l and 2 

2. 

DNA IRotfsT foHCI JYUT HOGII ? 

(a) a 1 

(c) 1 3tr 2 

the: 

1. 

2. 

Oxidation is a process which involves 

3. 
4. 

2. 

gain of oxygen 

3 

(a) 1 and 2 

4 

(b) 3 only 

loss of oxygen 

(c) 2 and 3 

(d) 2 and 3 

loss of electrons 

The correct answers are: 

(b) oqa 3 

gain of electrons 

(d) 2 3r 3 

(a) 1 3N 2 

(c) 2 3r 3 

(b) 2 and 4 

(d) 3 and 4 

(b) 2 3jr 4 

(d) 3 3ir 4 

3. 

3. 

4. 

(B-3) 

4. 

5. 

5. 

6. 

Which one of the following cannot be 
the unit of frequency of a sound wave ? 

(a) dB 

(c) Hz 

(a) dB 

(c) Hz 

(a) Diamond 

(c) Fly ash 

(a) sT 

Which one of the following materials is 
not an allotrope of carbon ? 

(c), YoS 

(a) H. G. Khurana 

(b) K. V. Frisch 

(c) Juliane Huxley 

(a) yao uio qei 
(b) $o to fYA 

The Nobel Prize for deciphering the 
language of bee was awarded to : 

(b) s-l 

(d) srre sufm t 

(d) min-! 

(a) reflect back. 

(b) s-1 

(b) go straight. 

(d) min-1 

(d) Dorothy Hodgkins 

(d) bend at 450, 

(b) Graphene 

(d) Fullerene 

(b) yr 

If a ray of light enters from a rarer 
medium to a denser medium at zero 

angle of incidence, it would 

(c) turn towards right. 
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6. 

7. 

7. 

8. 

8. 

9. 

9 

A 

(b) fef GIYft | 

(d) 450 yR Yt | 
Reserpine is used to : 

(a) Reduce high blood pressure 
(b) Increase blood pressure when it is 

low 

(c) Alleviate pain 
(d) Cure arthritis 

Which one of the folowing sets of 
elements was primarily responsible for 
the origin of life on the Earth ? 

(a) Hydrogen, Oxygen, Sodium 
(b) Carbon, Hydrogen, Nitrogen 
(c) Oxygen, Calcium, Phosphorus 
(d) Carbon, Hydrogen, Potassium 

(a) B1ggi, ÍT, MfS4H 
(b) IdT, BIEguT, AIEtu 

Which of the following is used by 
computed tomography employed for 
visualisation of the internal structure of 

human body ? 

(a) X-ray 
(b) Sound waves 
(c) Magnetic resonance 
(d) Radio isotopes 

(B-4) 

10. 

(d) fafou HHenfA 

10. Total internal reflection can take place 
when light travels from : 

11. 

11. 

12. 

(a) X- fahU 

12. 

(a) diamond to glass 
(b) water to glass 
(c) 

(d) 

air to water 

(b) eaf TRI 

air to glass 

(a) lactic acid 
(c) acetic acid 

(b) 

A sprinter feels cramps and pain in the 
thigh nuscles after a run. This is due to 
accumulation of 

(b) CO2 
(d) ethanol 

(b) CO2 

(d) qerit 

Which one of the following statements 
regarding bile secreted by liver is not 
Correct ? 

(a) Bile contains enzymes for digestion 
of lipids. 

(b) Bile facilitates emulsification of fats. 

(c) Bile neutralizes the acidic pH of the 
food coming from stomach. 

(d) Bile makes the pH of the food 
alkaline and facilitates action of 
pancreatic enzymes. 

pH gGH DRAII 
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13. 

13. 

14. 

14. 

15. 

15. 

A 

The blood pressure of a normal human 
being is found to be 120/80 mmHg. 
These 'numbers' represent the blood 
pressure at 

(a) ventricular contraction 

ventricular relaxation, respectively 
(b) Ventricular 

ventricular contraction, respecttvely 
(c) auricular contraction and auricular 

relaxation, respectively 
(d) ventricular contraction 

auricular contraction, respecttvely 

HIHY 4T rG<IA 120/80 mmHg aGI 

(a) Aufbau's principle 

(c) Hund's rule 

relaxation 

In an atom, the order of filling up of the 
orbitals is governed by 

(d) Pauli's exclusion principle 

(a) 319|G5 NGIi GRI 

(b) Heisenberg's uncertainty principle 

(a) orientation 

(c) size 

(a) sfafaRH 
(c) 34Jy 

and 

Regarding the atom of a chemnical 
element, the magnetic quantum number 
refers to : 

(b) shape 

(d) spin 

and 

(b) 3pfa 
(d) 

and 

huT 

(B-5) 

16. The concept of Anuvrata was advocated 
by : 

16. 

17. 

17. 

18. 

(a) Mahayana Buddhismn 
(b) Hinayana Buddhism 
(c) Jainism 

(d) The Lokayata school 

(c) Erf 

Which one of the following ancient 
Indian records is the earliest royal order 
to preserve food-grains to be utilized 
during the crises in the country? 
(a) Sohgaura Copper-plate 
(b) Rummindei Pillar-edict of Ashoka 

(c) Prayaga-prasasti 
(d) Mehrauli 

Chandra 

(a) HgNI AHYA 

Pillar 

meditation 

inscription of 

Lord Buddha's image is sometimes 
shown with the hand gesture called 
"Bhumisparsha Mudra'. It symbolizes 
(a) Buddha's calling of the Earth to 

watch over Mara and to prevent 
Mara from disturbing his 

(b) Buddha's calling of the Earth to 
witness his purity and chastity 
despite the temptations of Mara 

(c) Buddha's reminder to his followers 
that they all arise from the Earth 
and finally dissolve into the Earth, 
and thus this life is transitory 

(d) Both the statements (a) and (b) are 
correct in this context 
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18. 

19. 

19. 

A 

20. 

In Indian history, who was Abdul Hamid 
Lahori ? 

I 

(a) An important military commander 
during Akbar reign. 

(b) An official historian of the reign of 
Shahjahan. 

(c) An important noble and confidant of 

Aurangzeb. 
(d) A chronicler and poet during the 

reign of Muhammad Shah. 

(a) 

(b) 

The pafntings of Abanindranath Tagore 
are classified as : 

(a) realistic (b) socialistic 

(c) revivalistic (d) impressionistic 

(B-6) 

20. 

21. 

21. 

22. 

22. 

23. 

23. 

(a) qeefar 

(c) yrutqTATA 

(a) Haider Ali 

Who among the following Indian rulers 
established embassies in foreign 

(c) 

T? 

(a) t 

Shah Alam II 

(b) 

(c) 

The radical wing of the Congress Party, 
with Jawaharlal Nehru as one of its 

main leaders, founded the Independ 
ence for India League in 1928 in 

opposition to : 

(b) HHGqTt 

(a) the Finance Commission 

(a) fat 3rt 

(d) gHgIct 

(a) West Bengal 

(b) Mir Qasim 

the National Development Council 

Nehru Report 

(d) Tipu Sultan 

(d) the Constitution of India 

(c) Madhya Bharat 

(b) r pftH 

(d) Punjab 

(a) H qUIG 

B. R. Ambedkar was elected to the 

Constituent Assembly from : 

(b) Bombay Presidency 

(b) faoH ygG 

(b) q rf-t 
(d) ylq 

countries on modern lines ? 
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24. 

24. 

25. 

25. 

26. 

26. 

27. 

A 

A pleader of Bihar who left his lucrative 
practice during Non-Cooperation 
Movement was : 

(a) Jai Prakash Narayan 
(b) Rajendra Prasad 
(c) Sahajanand Saraswati 
(d) Raj Kumar Shukla 

(b) VHIG 
(c) HSI Hg 

Who of the following organized a march 
on the Tanjore coast to break the Salt 
Law in April 1930 ? 

(a) V. O. Chidambaram Pillai 

(b) C. Rajagopalachari 

(c) K. Kamaraj 
(d) Annie Besant 

TT fAar ? 

(a) fio so frcary ftcet 
(b) o GUCE 

(c) ho IHRII 

Which one of the following layers of the 
atmosphere is responsible for the 
deflection of radio waves ? 

(a) Troposphere (b) Stratosphere 
(c) Tropopause (d) Ionosphere 

la), aqvS (b) H4GIq4UGa 

(d) 31t 

Which one of the following factors is 
responsible for the change in the regular 
direction of the ocean currents in the 
Indian Ocean ? 

(B-7) 

27. 

28. 

28. 

29. 

(a) Indlan Ocean is half an ocean 

(b) Indian Ocean has monsoon drift 

(c) Indian Ocean is a land-locked ocean 

(d) Indian Ocean has greater variation 
in salinity 

Which one of the following statements 
about earthquake waves is not correct ? 

(a) P waves move faster and are the 
first to arrive at the surface. 

(b) P waves can travel through gaseous, 
liquid and solid materials. 

(c) Seismographs located beyond 1450 
from epicenter can record the 
arrival of P waves. 

(d) P waves have maximum area 
covered under its shadow zone. 

4 HO 

(c) aftco 1450 feT YGÖs-TP 

If the stars are seen to 

perpendicular to the horizon by an 
observer, he is located on the: 

(a) Equator 

(c) South Pole 

rise 

(b) Tropic of Cancer 
(d) North Pole 

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


29. 

30. 

30. 

31. 

31. 

(a) fayd tar 

Which principle among the following 
was added to the Directive Principles of 
State Policy by the 42nd Amendment to 
the Constitution ? 

(a) Equal pay for equal work for both 
men and women 

(b) Participation of workers in the 
management of industries 

(c) Right to work, education and public 
assistance 

(d) Securing living wage and human 
conditions of work to workers 

Consider the following specific stages of 
demographic transition associated with 
economic development: 

1 

2. High birth rate with high death rate 

High birth rate with low death rate 

Select the correct order of the above 

stages using the codes given below: 

3 

(a) 1, 2, 3 

Low birth rate with low death rate 

(c) 2, 3, 1 

1. 

2 

3. 

(b) 2, 1, 3 

(d) 3, 2, 1 

(B-8) 

32. 

32. 

33. 

33. 

(a) 1, 2, 3 

(c) 2, 3, 1 

(b) 2, 1, 3 

and (a) warm 
currents meet 

(d) 3, 2, 1 

The most important fishing grounds of 
the world are found in the regions where 

cold atmospheric 

(b) rivers drain out large amount of 
fresh water into the sea 

(c) warm and cold oceanic currents 
meet 

(d) continental shelf is undulating 

(b) , HRÌ 9R HEAI dIGII 

The term "Levant" often heard in the 

news roughly corresponds to which of 
the following regions ? 
(a) Region along the eastern 

Mediterranean shores 

(b) Region along North African shores 
stretching from Egypt to Morocco 

(c) Region along Persian Gulf and Horn 
of Africa 

(d) The entire coastal areas of 

Mediterranean Sea 
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34. Through which one of the following 
Straits, does a tunnel connect the 
United Kingdom and France ? 

34. 

35. 

35. 

36. 

A 

(a) Davis Strait 

(b) Denmark Strait 

(c) Strait of Dover 

(d) Strait of Gibraltar 

(a) sfaH GSHHHE 

(b) $H# GciGHO44 

Consider the following rivers : 

Ganga 
3. Wainganga 4 Penganga 

1. Kishenganga 2. 

The correct sequence of these rivers 
when arranged in the north-south 
direction is 

(a) 1, 2, 3, 4 

(c) 2, 1, 4, 3 

1. f0TT 

3 

(a) 1, 2, 3, 4 

(c) 2, 1, 4, 3 

(b) 

(d) 

2 

4. 

2, 1, 3, 4 

1, 2, 4, 3 

(b) 2, 1, 3, 4 

(d) 1, 2, 4, 3 

What is the correct sequence of the 
rivers-Godavari, Mahanadi, Narmada 
and Tapi in the descending order of 
their lengths ? 

(a) Godavari-Mahanadi-Narmada-Tapi 

(b) Godavari-Narmada-Mahanadi-Tapi 

(c) Narmada-Godavari-Tapi-Mahanadt 
(d) Narmada-Tapi-Godavart-Mahanadi 

36. 

37. 

37. 

(B-9) 

38. 

38. 

39. 

(a) <a-HET-H-Ii 

(b) terat-f-H314-GI� 
(c) T4T-tea--HgI1 
(a) fCI-r-trat-HE7 
The black cotton soil of India has been 
formed due to the weathering of 
(a) Brown forest soil 
(b) Fissure volcanic rock 

(c) Granite and schist 

(d) Shale and limestone 

Which one of the following places was 
associated with Acharya Vinoba Bhave's 
Bhoodan Movement at the beginning of 
the movement ? 

(a) Udaygiri 

(c) Pochampally (d) Venkatagiri 

T ? 

(b) Raipur 

(a) seyfn 

(c) Hc¥t 
Which of the following are/is stated in 
the Constitution of India ? 

(b) g 
(d) Toefnt 

1. The President shall 
member of either 
Parliament 

2. The Parliament shall consist of the 
President and two Houses 

(c) Only 1 

Choose the correct answer from the 
codes given below : 
(a) Neither l nor 2 (b) 

not be a 

House of 

(d) 

Both 1 & 2 

Only 2 
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39. 

40. 

40. 

41. 

41. 

A 

(a) 1 str 2 i 

(b) 1 3tr 2 dt 

(c) i 1 

Consider the following statements : 

An amendment to the Constitution of 
India can be initiated by the: 
1. Lok Sabha 

3. State Legislature 4. 

(a) Only 1 
(c) 2, 3 and 4 

(d) qa 2 

Which of the above statements is/are 
CorTect ? 

1 

3. 

(a) odd 1 

(c) 2, 3 3r 4 

(b) 

(d) 

(b) 

(d) 

2. Rajya Sabha 

(a) First Amendment 

President 

(b) Eighth Amendment 
(c) Ninth Amendment 

1, 2 and 3 

l and 2 

2. IHHT GRT 

The Ninth Schedule to the Indian 
Constitution was added by : 

1, 2 3tr 3 

1 3tr 2 

(d) Forty Second Amendment 

42. 

42. 

43. 

43. 

44. 

(B-10) 

Which one of the following schedules of 
the Indian Constitution lists the name 

of states and specifles their territories ? 

(a) First 

(c) Third 

(a) yat 

(c) �r 

one Which the among following 
commission was set up in pursuance of 

(b) Second 

(a) University Grants Commission 

Tfoi 3HT ? 

(d) Fourth 

(b) National Human Rights Commission 

(a) frafules 37 

(b) qt 

(c) Election Commission 

(c) fArafe ruT 

(d) ef 

(d) Central Vigilance Commission 

According to the Constitution of India, it 
is the duty of the President of India to 
cause to be laid before the parliament 
which of the following ? 
1. The Recommendations of the Union 

Finance Commission 

2. The Report of the Public Accounts 
Committee 

la) 1 only 

3. The Report of the Comptroller and 
Auditor General 

(c) 1, 3 & 4 only 

4. The Report of the National 
Commission for Scheduled Castes 

Select the correct answer using the 
codes given below: 

(b) 

(d) 

2 & 4 only 

1, 2, 3 & 4 

a definite provision under an Article of 
the Constitution of India ? 
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44. 

45. 

45. 

46. 

46. 

A 

2 

3 

4. 

(a) 1 

(c) q 1, 3 3R 4 (d) 1, 2, 3 3t 4 

As per Indian Protocol, who among the 
following ranks highest in the order of 
precedence ? 

(a) Deputy Primne Minister 

(b) hdi 2 3Ìr 4 

(b) Former Presidents 

(c) Governor of a State within his State 

(d) Speaker of the Lok Sabha 

(a) 34-WUI4 

Which one of the following situations 
can lead to inflation ? 

(a) Rapid growth of aggregate demand 
outweighing supply 

(b) Sluggish 
demand 

growth of aggregate 

(c) Reduction in the money supply 

(c) y-9d 

(d) Higher levels of unemployment 

47. 

47. 

48. 

48. 

49. 

49. 

50. 

(B-11) 

The contraction of private investment 

spending due to deficit spending by the 
Government is called 

(a) crowding out (b) crowding in 
(c) pump priming (d) dumping 

(a) (u Prd ) afRf4 
(b) (Au Aà ) 3Í4T 

(d) sf� 
Which one of the folowing issues the 
"Global Economic Prospects' report 
periodically ? 
(a) The Asian Development Bank 
(b) The European Bank 

Reconstruction and Development 
(c) The US Federal Reserve Bank 
(d) The World Bank 

() fayg ~ 

Survey of India is under the ministry of : 
(a) Defence 
(b) Environment and Forests 
(c) Home Affairs 

(d) Science and Technology 

(a) T HalY 

(c) 8 HAlcs 

Where is Davos, the venue of the annual 
meeting of World Economic Forum; 
located ? 

(a) France 

for 

(b) Germany 

(c) Switzerland (d) Luxemburg 
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50. 

51. 

51. 

52. 

52. 

53. 

A 

(a) i 

Where the National Centre of Antarctlc 
and Ocean Research in India is located? 

(a) Goa 

(c) Chennat 

(a) 3 

(c) 

(b) Anna Freud 

Which one of the following pairs is not 
matched ? 

(a) Sigmund Freud -Psychoanalysis 
-Child psychiatry 

i? 
(a) fTUg B0UG 

(b) Kochi 

(c) Milton Friedman - Economics 

(c) fAcci BIEGAT 

(d) Hyderabad 

(a) EricR. Kandel - Literature 

(b) ofa 

(d) ATE 

3. 

Consider the following statements in 
respect of Bharat Ratna and Padma 
Awards. 

1. Bharat Ratna and Padma Awards 
are titles under the Article 18(1) of 
the Constitution of India. 

2. Padma Awards, which were 

instituted in the year 1954, were 
suspended only once. 

(a) l and 2 only 

(c) l and 3 only 

The number of Bharat Ratna 
Awards is restricted to a maximum 
of five in a particular year. 

Which of the above statements are not 
Correct ? 

(b) 
(d) 

2 and 3 only 
1, 2 and 3 

53. 

54. 

54. 

55. 

55. 

Letter 

1 

code 

(B-12) 

2 

3 

(a) 4d 1 3itr 2 

(c) qG 1 3r 3 (d) 1, 2 3ir 3 

Which State of India has the highest 
population density as per 2011 census ?. 

(c) West Bengal 

(d) Krishna Sobti 

Digit 9 3 2 

(b) d 2 3itr 3 

Who has been awarded 57h Jnanpith 
award in the year 2023 ? 

(b) Kerala 

(a) Damodar Mauzo 

(b) Ravindra Kelekar 

(c) Nilmani Phookan 

Directions (9. 56-60) : In each of the 
questions given below, a group of digits 
followed by four combinations of letter codes 
labelled (a), (b), (c) and (d) are given. You have 
to find out as to which of the combinations, 
out of the four given alternatves, is correctly 
coded form of the group of digits, as per the 
following codes and conditions. 

M 

(d) Bihar 

B N 

(b) r 

2023 5740 ^ITÝ3 rroR fa fI I ? 

-

(d) faR 

1 5 7 6 4 

KR H T D J 

(a) U.P. 
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Conditions : 

(1) 

(i) 

(iii) 

56. 

57. 

58. 

59. 

60. 

Letter 
code 

yId : 

(1) 

(i1) 

(iii) 

A 

If the first digtt is an odd number and 
the last digit is an even number, both 
are to be coded as 'X. 

If the first digit is an even number and 
the last digit is an odd number, both are 
to be coded as 'Y. 

If either the first or the last digit is 0, 
then 0 is to be coded as 'W. 

328469 

(a) YBNDTM 

(c) 

Digit 9 3 2 

EBNDTM 
631420 

(a) TEKBDW 

(c) TEKDBJ 

640598 

(a) TDJRMN 

(c) XDJRMN 
893561 

(a) XMERTY 

(c) XMERTX 
743506 

(a) XDERWT 

(c) XDERJX 

M 

GIIYTI 

8 

E B N 

1 

K 

(b) XBNDTX 

(d) YBNDTY 

(b) TEKDBW 

(d) TKDEBW 

(b) TDWRMN 

(d) TDJRMY 

(b) NMERTK 

(d) YMERTY 

(b) HDERWT 

(d) YDERJY 

5 

R 

7 

H 

6 

T 

4 

D J 

56. 

57. 

58. 

(B-13) 

59. 

60. 

61. 

62. 

63. 

64. 

328469 

65. 

(a) YBNDTM 
(c) EBNDTM 

631420 

(a) TEKBDW 

(c) TEKDBJ 

640598 

(a) TDJRMN 

(c) XDJRMN 

893561 

(a) XMERTY 

(c) XMERTX 

743506 

(a) XDERWT 

(c) XDERJX 

Who is the mother ? 

(a) A 

(c) D 

Directions (9. 61-65) : Study the 
following information carefully and answer the 
questions given below it: 

There are six persons A, B, C, D, E and 
F. C is the sister of F. B is the brother of E's 
husband. D is the father of A and grandfather 
of F. There are two fathers, three brothers and 
a mother in the group. 

(c) A 

(a) One 

(c) Three 

(b) XBNDTX 

(d) YBNDTY 

(c) Son 

(b) TEKDBW 

(d) TKDEBW 

brothers ? 

(b) TDWRMN 

(a) ABF 

(d) TDJRMY 

(c) BFC 

(b). NMERTK 

(d) YMERTY 

Who is E's husband ? 

(a) B 

(b) HDERWT 

(d) YDERJY 

How many male members are there in 
the group ? 

(b). B 

(d) E 

(b) C 

How is F related to E ? 

(a) Uncle 

(d) F 

(b) Two 

(d) Four 

Which of the following is a goup of 

(b) Husband 

(d) Daughter 

(b) ABD 

(d) BDF 
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A, B, C, D, E r F B: ut c, F 

aET B, E 

61. 

62. 

63. 

64. 

65. 

66. 

67. 

68. 

69. 

fAT (0 61-85) : ffafy GITO T 

70. 

A 

o? 
(a) A 
(c) D 

(a) B 
(c) 

(a) yc 

(c) 

A 

F,E 
(a) 

(c) 

(a) ABF 

(c) BFC 

(a) 23 
(c) 97 

T 

21:3 ::574:? 

(a) 54 

(c) 64 

yt 

18: 30 ::36: ? 

(a) 3 
(c) 5 

Directions (0. 66-70) : In each of the 
following questions, there is certain 

relationship between two given numbers on 
one side of the symbol (: :) and one number is 
given on another side of the symbol (: :) while 
another number is to be found from the given 
alternatives, having the samne relationship with 
this number as the numbers of the given pair 
bear. Choose the best alternative. 

17: 52::1:? 

(a) 425 

I 

3: 243::5:? 

(c) 546 

(a) 49 

(c) 61 

20: 11::102 :? 

(b) B 

hH yOR Hafta 

(d) E 

D, A 

(b) C 

(d) F 

(b) 

(d) 

? 
(b) yf 

(d) 

(b) ABD 

(d) BDF 

(b) 82 
(d) 113 

(b) 62 

(d) 66 

(b) 4 
(d) 51 

(b) 465 

fÜTtr F 

(d 3125 

(b) 52 

(d) 98 

66. 

67. 

68. 

69. 

70. 

72. 

73. 

74. 

21:3:: 574 :? 

75. 

(B-14) 

(a) 23 

(c) 97 
18: 30::36 : ? 

(a) 54 
(c) 64 

17: 52::1:? 

(a) 3 

(c) 5 
3:243::5:? 

(a) 425 
(c) 546 

71. AFI, JOR, MRU, ? 

20: 11::102 :? 

(a) 49 

(c) 61 

(a) GJU 

(c) PMO 

Directions (9. 71-75): A serles is 
given, with one term missing. Choose the 
correct alternatives from the given ones that 
will complete the series : 

(c) hij 

(b) 82 

(d) 113 

(b) 62 
(d) 66 

(a) 9x 4 

(b) 4 

(c) 9x 7 

(d) 51 

(b) 465 

(d) 3125 

(b) 52 

(d) 98 

be, cde, de, efg, fg, ? 
(a) ghi 

(b) HMP 

(d) RJL 

C-3, E-5, G-7, I-9, ? 

(a) X-24, M-21 
(c) O- 15, X- 24 
5, 16, 51, 158, ? 

(a) 1452 

(b) fgh 
(d) ijk 

(b) K- 11, M - 13 
(d) M- 18, K- 14 

(c) 481 

9*2:9 *9::9*5:?*? 

(b) 483 

(d) 1454 

(b) 9 x 6 

(d) 9 x 8 
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71. 

72. 

73. 

74. 

75. 

76. 

77. 

78. 

79. 

AFI, JOR, MRU, ? 

A 

(a) GJU 

(c) PMO 

(a) ghi 

bc, cde, de, efg, fg, ? 

(c) hij 

(c) O - 15, X -24 

5, 16, 51, 158, ? 

(a) 1452 

(c) 481 

C-3, E-5, G -7, I-9, ? 

(a) X- 24, M-21 (b) K- 11, M- 13 

(a) 9 x 4 

(c) 9x7 

BC: FG 

(a) PO: ST 

(c) AD: PQ 
MN: OP 

(a) 

9* 2:9*9: :9*5:?*? 

Directions (0. 76-79) : Each of the 
following questions consists of a pair of letter 
groups that have a certain relationship to each 
other, followed by four other pairs of letter 
groups given as alternatives. Select the pair in 
which the letter-groups are similarly related as 
in the given pair. 

AD: GH 

(c) QR:ST 

(b) 

CEH: IKN 

(d) 

(a) ACD: FHJ 

(c) EFH: KMN 

LLAMS: SMALL 

(b) fgh 

(c) BARK: KRBA 

HMP 

(d) ijk 

(d) TREE: EETR 

RJL 

(d) M- 18, K- 14 

(b) 483 

(d) 1454 

(b) 9 x 6 

(d) 9 x 8 

(b) HI:LM 

(d) JK: LM 

(b) AB : P9 

(b) 

(a) SRENID : DINERS 

(d) RS:TV 

(b) CHART: TRAHC 

(d) OgT: UWZ 

CDF: IJK 

76. 

77. 

78. 

79. 

80. 

81. 

82. 

83. 

80. 

fAT (90 76-79) : fefa yrd 9A 

81. 

BC: FG 

(B-15) 

(a) Pg : ST 
(c) AD : P9 
MN: 0P 

(a) AD: GH 
(c) QR: ST 
CEH: IKN 

(c) BARK: KRBA 
(d) TREE: EETR 

(c) 916 

(a) ACD: FHJ 

(c) EFH: KMN 

LLAMS: SMALL 
(a) SRENID : DINERS 

(b) CHART: TRAHC 

Directions (9. 80-83) : In an imaginary 
language, the digits 0, 1, 2, 3, 4, 5, 6, 7, 8 and 
9 are substituted by a, b, c, d, e, f, g, h, i and 
/. Further, 10 is written as ba, then 

(c) bce 

(b) HI : LM 

(d) 

(c) bib 

(b) 
(d) 

(b) 

(a) 684 

(d) 

(cd + ef) x bc is equal to 
(a) 684 (b) 816 

(d) 1564 

baf + bf x d is equal to 
(a) df 

(c) 916 

(a) abb 

JK: LM 

de x f- (bf - d) x d is equal to 
(a) abb 

(c) bce 

AB: PO 
RS:TV 

CDF: IJK 

0, 1, 2, 3, 4, 5, 6, 7, 8 30r 9 ¢ R7 W a, b, c 
d, e. f. g., h, i Ìr j Ì raT TI Ì 10 ba 

ogT: UWZ 

(b) cb 
(c) be (d) d 
bee + fg- (ca x h/be) is equal to 
(a) bhc (b) bic 

(d) bja 

(b) abe 
(d) bcf 

HAoUT (cd + ef) x bc o| HH AT 
(b) 816 
(d) 1564 

HAoeUT dc x f- (bf - d) x d Ê HH I 
(b) abe 
(d) bcf 

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


82. 

83. 

84. 

84. 

85. 

86. 

HoU baf + bf x d H7 ET 

A 

(a) df 
(c) be 

(a) bhc 
HAIORU bee + fg- (ca x h/be) I H17 E 

(c) bib 

(c) 4 

(b) cb 

(a) -2 

(d) d 

If + means t, + means , means X, X 
means +, then 12 +6 +3-2 x 8 =? 

(c) 4 

(b) bic 

(d) bja 

342f + , at 12 + 6+3 -2 x 8 T HT AT 

Direction : Figures 1 and 2 are related 
in a particular manner. Establish the same 
relationship between figures 3 and by 
choosing a figure from amongst the four 
alternatives, which would replace the question 
mark in fig. (4). 

(b) 2 
(d) 8 

(b) 2 
(d) 8 

(a) 15 
(c) 20 

Problem Figures (UA 31GTd) : 

(1) (2) (3) 

? 

(a) (b) (c) (d) 
A fruit seller g0ves half of the total 
number of apples and 1 apple to the 

1 

(4) 

apple to the second customer and -of 
5 

the remaining and l apple to the third 
customer. After this he is left with 3 
apples. How many apples did he have in 
the beginníng ? 

(b) 18 
(d) 25 

86. 

87. 

87. 

88. 

88. 

(B-16) 

(a) 15 

(c) 20 

(a) 5.4 km/h 

(c) 4.8 km/h 

1 

5 

3 

A sea-ship is 40 km away from the 
shore. A hole is made in it, due to which 

7 

(a) 63% 

fot ta ? 

1 tons of water is filled inside in 6 

(c) 719% 

(b) 18 

minutes. 60 tons of water is enough to 
sink this ship. But an evacuation pump 
installed in the ship can throw out 
water at the rate of 12 tons per hour. 
Find the average speed of the ship so 
that it reaches the shore as soon as it 
starts sinking. 

(a) 639% 
(c) 71% 

(d) 25 

(a) 5.4 foo/tcT (b) 4.5 foo/yci 

(b) 4.5 km/h 

(d) 5.7 km/h 

If the values of x and y are decreased by 
25% and 20% respectively in the 

expression x®y, by what percent will the 

(b) 669% 

(d) 73% 

(b) 669% 

7 

8 

(d) 739% 

(a) -2 

Answer Figures (JTR 3Ipfm : 

first customer; of the remaining and 1 

(c) 4.8 flo/c (d) 5.7 foo/ye 

value of the expression decrease ? 
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89. 

89. 

-90. 

90. 

91. 

91. 

A 

The percentage of metals in a lead ore 
mine is 60 percent. Now the percentage 
of silver in the metals is 

(a) 4763 

(c) 4761 

rest is lead. If the mass of ore extracted 
from this mine is 8000 kg., then the 
mass (kg) of lead is : 

3 

4 

(a) 4763 
(c) 4761 

(a) 1:1 

(c) 1:2 

(a) 1: 1 

(c) 1:2 

3 

4 

Gold is 19 times heavier than water 

while copper is 9 times heavier than 
water. In what ratio should they be 
mixed so that the mixed metal is 15 
times heavier than water? 

(b) 4762 
(d) 4764 

(a) 18: 35: 50 

(c) 4:8:5 

% and the 

(b) 4762 

(d) 4764 

(b) 2:3 

(d) 3: 2 

(b) 2:3 
(d) 3:2 

The number of students studying Arts, 
Commerce and Science in a college is in 
the ratio 3 : 5:8. If the number of 
students in these departments is 
increased by 20%, 40% and 25% 
respectively, then the ratio of the 
number of students in these 
departments is : 

(d) 

(a) 18: 35: 50 (b) 3: 10: 10 

(c) 4: 8:5 32:35: 25 

HRT: 20%, 40% TeIT 25% t qia E E 

(b) 3: 10: 10 

(d) 32 :35: 25 

92. 

92. 

(B-17) 

93. 

93. 

94. 

8 press compositors can set a 600-page 
manuscript in 16 days by working 12 
hours a day, when each page has 60 
lines and each line has 40 characters. 
Another manuscript of 1000 pages has 
48 lines in each page and 50 letters in 
each line. In how many days will it be 
set by 10 compositors, working 8 hours 
a day ? 
(a) 23 

(c) 31 

8 tH GfyeR 600 y8 i gfaft t 12 

qf 50 34R 3 10 HfoeR, 8 c 

(a) 23 

(c) 31 

(b) 32 

(d) 27 

(b) 32 

Some birds and some branches are 
given. If one bird sits on each branch, 
then there is no branch left for a bird. If 
two birds sit on each branch, then one 
branch is left. The numbers of birds and 
branches are respectively : 

(d) 27 

(a) 5 birds, 4 branches 

(b) 3 birds, 2 branches 

(c) 4 birds, 3 branches 

(d) 7 birds, 4 branches 

(a) 35 minutes 

(a) 5 fafgu, 4 IrAr (b) 3 fafs, 2 Yarà 
(c) 4 fafs, 3 YIA () 7 afd, 4 VIA 

(c) 45 minutes 

The first period of a class starts at 10:30 
and the fourth (last) period ends at 
13:45. If the time duration of each 
period is the same and at the end of 
each period a rest of 5 minutes is given, 
then what is the time duration of each 
period ? 

(b) 40 minutes 

(d) 42 minutes 
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94. 

95. 

95. 

96. 

96. 

A 

(a) 35 fAC 

(c) 45 fAE 

(a) 51 minutes 

A monkey climbs metres in one 

minute on a round pole 80 metres high 
but slips down 2 metres in the second 
minute. How much time will it take to 

reach the top of the pole ? 

(c) 58 minutes 

(a) 51 fAE 

(c) 58 fAe 

(a) Rs. 36000 

(c) Rs. 1600 

(b) 40 fHe 

(d) 42 fHE 

(a) 36000 Fo 

(c) 1600 Fo 

(b) 54 minutes 

The interest earned on investing a 
certain amount in a scheme A for two 
years is Rs. 450 more than the interest 
earned on investing the same amount in 
another scheme B for the same period. 
If schemes A: and B paid compound 
interest at the rate of 30% per annum 
and 20% per annum respectively 
compounded annually, what was the 
amount invested in each scheme ? 

(d) 61 minutes 

(b) 54 f 

(d) 61 fMHe 

(b) Rs. 1800 

B 4: 30% wtt q¢ yd 20% yf q 

(d) Rs. 2200 

(b) 1800 Fo 

(d) 2200 Fo 

97. 

97. 

98. 

98. 

99. 

99. 

100. 

The rate of interest compounded 

annually at which a sum of money 
125 

of itself in three years is : 

(B-18) 

becomes 

(a) 30% 

(c) 20% 

(a) 309% 

(c) 20% 

(a) 80 

(c) 140 

(c) 140 

gfrutf fbart ? 
(a) 80 

(a) 11 

(c) 22 

A farmer has some hens and goats. If all 
of them have 240 heads and 640 legs, 
how many hens are there ? 

(a) 11 

(c) 22 

(a) 

2 

(a) 

125 

5 

64 

2 

5 

64 

In a party every person shakes hands 
with all the persons present. If there 
were 66 handshakes in total, how many 
people were there in the party ? 

3 

5 

(b) 

(b) 

100. Which of the following will be a rational 
number between and ? 

4 

(b) 25% 

7 

(d) 12.5% 

4 

(b) 259% 

7 

(d) 

(b) 120 

12.5% 

(d) 160 

(b) 120 

(d) 160 

(b) 

(d) None of these 

12 

(b) 12 

(c) 

(c) 

3 

5 

2 

3 

3 

(d) 

(d) 
3 
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